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1. Determine the value of the equilibrium constant for each reaction given, assuming that the equilibrium concentrations are found to be those specified. (Concentrations are in mol/L.)

a.   A  +  B  ((  C      [A] = 2.0; [B] = 3.0; [C] = 4.0

b.   D  +  2E  ((  F  +  3G     [D] = 1.5; [E] = 2.0; [F] = 1.8; [G] = 1.2

c. N2 (g)  +  3H2 (g)   ((  2NH3 (g)     [N2] = 0.45; [H2] = 0.14; [NH3] = 0.62
2. An equilibrium mixture of N2. O2, and NO gases @ 1500K is determined to consist of 

6.4 E -3 mol/L of N2, 1.7 E -3 mol/L O2, and 1.1 E -5 mol/L of NO. What is the equilibrium constant for the system at this temperature?

3. At equilibrium a mixture of N2, H2, and NH3 gas at 500OC is determined to consist of 

0.602 mol/L N2, 0.420 mol/L H2, and 0.113 mol/L of NH3. What is the equilibrium constant for the reaction N2(g)   +   3H2 (g)   ((   2NH3 (g) at this temperature
4. At equilibrium a 1.0 L vessel contains 20.0 mol of H2, 18.0 mol of CO2, 12.0 mol of H2O, and 5.9 mol of CO @ 427oC. What is the value of Keq at this temperature for the following reaction?


CO2 (g)   +   H2 (g)   ((   CO (g)   +   H2O (g)
5. A reaction between gaseous sulfur dioxide and oxygen gas to produce gaseous sulfur trioxide takes place @ 600oC. At that temperature, the concentration of SO2 is found to be 1.50 mol/L, the concentration of O2 is 1.25 mol/L, and the concentration of SO3 is 3.50 mol/L. Using the balanced chemical equation, calculate the equilibrium constant for the system.
6. An equilibrium mixture @ a specific temperature is found to consist of 1.2 E -3 mol/L HCl, 

3.8 E -4 mol/L O2, 5.8 E -2 mol/L H2O, and 5.8 E -2 mol/L Cl2. Determine the value of the equilibrium constant for this system.

HCl (g)   +   O2 (g)   ((   2H2O (g)   +   2Cl2 (g)

